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5.V A F LR MREEKEZN, f,g € V*\{0*}. iEH: ker(f) =ker(g) ¥ LR LA
ENeFEF f=)g.
WERR. % f = Ng. BROA f Mg #AET 0%, FTBL A #£ 0. T&, MMEE v € V,
f(v) =0<= g(v) =0. HIAH ker(f) = ker(g).

k2, % ker(f) =ker(g). W ei,... e, &V B—HE WIFE ... a0, B1,..., 80 €
F HEMERE x = 2161 + -+ + 2060,

fx) =z + -+, M g(x)=pFar+ -+ Butn.

WV MV, RIRTTRE cnzr 4+ anzy =0 M Bz + - -+ Boz, = 0 £E F™ RSN,
N rank(aq, ... o) =1, LA dim(Vy) = n — 1 (J7RERREOEE ).

X €
xeker(f)<=| : | €V M xecker(f)<= | : | €V,

Tn T,
N ker(f) = ker(g), FTilA Vy = V,. T, V; =V, NV, R4

a2+ apz, =0
ﬁlzl—i_"'—i_ﬁnznzo

ffE=sa. BN dim(Vy) = n — 1, BroL BRFF IR O7 FRLH IR RS
A:<%.“ %>
B B
RS T 1. TR A PHTAMA K. BN AT ERIES, T LMFLE X € F fiif5
(ar, - om) = A(Bi,. .., Ba).
TRMER 21,...,0, €F
1Ty + - pr, = NG + -+ ) = f(x) = Ag(x). O
“RRz” EB5YHIS—MIERR.
5138 1.1 % dim(V) =n, f € V*\{0*}. W f R4 E dim(ker(f)) =n — 1.

1



MERR. BN f # 0, BTUMFEE v € V 17 f(v) = a € F\ {0}. XMEE 8 € F,
f(Ba™v) = Bara = B. T f 2SS, BN im(f) = F, Pl dim(im(f)) = 1. T2
dim(ker(f)) =n — 1 (hH1EE BRI IERSS IR). O

H B 5I2, AT e1,. .., en1 72 ker(f) M, B2 ker(g) MR HEY R
EHV AEIK 6,6 1,60 TR flen) = a € F\{0}. H g(e,) = B € F\ {0}.
A h=f—aB g W hieg)=0,i=1,2,....n—1, XEHEN ¢ € ker(f) = ker(g),
i=1.2. . n—1 i

h(en) = f(en) - aﬂ_lg(en) = — aﬁ_l/g = 0.
M5 — 55 UPE R 4.12 (ZRVEMSEEACE PEIT) AIR1 h = 0%, T52& f = (a8 1)g. O
6. XV & F L&y n FERERNE, U RV &9 dgET20. X
U'={feV*|VueUl, f(u =0}.

A dim(U°) =n —d.
WEBA. & eq,...,eq & U B—4HE HET REH, VA —HE er,...,eq,€401,. .-, €5
Woel,....e5eh,...,e, RHXEE N ef(e;) =0,i€ {d+1,d+2,...,n}, j €
{1,,2,...,d}. A U = (eq,...,eq), Fibh e, ... e € U°.

W[ =aref+ - +ageitagae + - Foper e V, Koy, o ag, agq1, ..., € F.

mA fe U MXHMER j € {1,2,...,d}, f(e;) =0, AP
0=fle:) =) _ neile;) = a.
k=1

HILRH, fe (e, ....el). T U= (e,...,e,). MMl dimU® =n —d. O

ERR 1.2 8 5 BeRZEIBHMN—IERR. & U =ker(f). ®35132 1.1, dim(U) = n — 1.
T2 dim(U% =1 (% 6 Ae%Ee) XEAA U = ker(g), ik f,g e U, TR g & U
W IMmBENCEF 13 f=)g. O

§2 XTTXREWIE

ARE. W F RFEAET 2 3, p(ay, ..., 2,) € Flay, ..., 2, £FF IR BATUE p &
Fr EZRA, e p: F" — F AR (aq, ..., an) = plag, ..., a,) 4.

f5l 2.1 7+ H R? L=k A q(x) = 23 — 322 — 22119 + 22123 + 22073 B9 —BATE A2 1%
A TFOMER, FHH ¢ 95 L.
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W P'AP = diag(1,—1,0). F& ¢ &£ POV, PO PO T4k 2 diag(l,—1,0). & y =

ylﬁ(l) + yQﬁ(Z) + ygﬁ(3) ml]

a(y) = v — v3.

g ELE (1,1). O
FHE.

q= x% — 3x§ — 22129 + 22123 + 27973

= (21 — 29 + x3)° — 25 — 425 + 4ao3

= (ZEl — T9 + Ig)z — ([L’Q — 2$3)2.
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U1 1 -1 1 x1
wl=10 1 =2 T
Y3 0 0 1 3
~ .
M g=yl —yi MATLER Q' ¥7&mZ, L+

¢ WMELE (1,1). O

I 2.2 35 R L=k p, =30, 2wy BB S,
. p, EIRELTAEE
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n=3 1‘ B LB KRiRFe 5] ARG H LT 20, B LR (1,2).



A, —

A% JE—RFH .

AN o~ o~ — O
N o~ o~ o
NN 4 4 O —
aN - O - -
— O o~ —
AN —~ AN A A AN
e
=)
o
& |
W&
4+ |
'S
_
AN o~ = — O
AN o~ = o
N —H — O —
N - O —
- O —~H —
— = =~ — -

& AT M B 5 24T

—————————

1
0

0
1

0
0

—1

—1

-2
—1

0
0

0
2

X AR IR AE

T2

X AR BRAF

-

1
1

1
1

1
0

0
1

1
1

2
2

———_——————

AT —1/2 Ao B F AT

—1
—1

—1
—1

-2 -1

1

0
0

0
2

W 1 He B F AT

———_——————

HF

1
2

1

X FH T = E 6 REBIT ).



iyr'; Al 7% N Q{J Z ]%\i%i)i, Z = 1,2,...,7’1,—2. _EL AQ = 1 D:“] Ai—‘,—l/Ai < 0,
i=1,2,...,n—2. & Jacobi /.

~e —Lin-2-

. (A1 Ay Ans
N ~ec dlag (A—O, A—l, ceey An3>

FRAEE PcGL,(F) #2 Q € GL,_o(F) 1£1%

t t 2 0
(5 9) (2 9)- (5 ) (4 9) (2 9)- L) o
O @ O Q O Q O N O Q 2
T4 p, 9ELAZ (I,n—1). O

§3 XTTREIRVIERA

B13.14% p € Cloy,...,x,) EEAF=0k. EW: p £ Clay,...,x,] THS Y
rank(p) < 2.
MERR. & KBRFFSLF B 8.11 4o, p 89T 294 284 rank(p) < 2.

Bz, & rank(p) < 2. & rank(p) <2 B p £ C" 894 E AT O4ERA A b X
BB 7.19 The i P e GL,(C) %1%

E, Orx(n—r
P'AP = =)
O(n—r)><7‘ )

AP r=1HXKr=2 FTA&

X1 E O T
b= ('xlaxn)A = (fljl,...l‘n)(P_1>t r rx(n—r) P—l
O(n—r)x O
T, ,
Z.?\
1 T
. — P_l
Yn Tn

Mp=yi+---+y2. Fr=10,p=yl. Tr=28,p= 1+ vV-1v) (0 —V-1y).
WAL y Fooyy AAXT 21,1, 9—KRZAXN. Tk p £ Clay,..., 7, F7T74. O



